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Pyrrole furan and thiophene are aromatic because:

1) they fulfill the criteria for aromaticity, the extent of delocalization of the nonbonding

electron pair is decisive for the aromaticity, thus the grading of aromaticity is in the

order of: furan< pyrrole < thiophene< benzene this order is consistent with the order 

of electronegativity values for oxygen (3.44), nitrogen (3.04) and thiophene (2.56).
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2) They tend to react by electrophilic substitution due appearance of –ve charge 

on carbon atoms (2 & 3) due to delocalization as shown in the following 

resonance structures

In comparison to benzene the order of reactivity in electrophilic substitution is as

follows:
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Which of the following is a not a five membered ring?

a) Pyridine

b) Pyrrole

c) Furan

d) Thiophene


